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Stand Alone Mcqs

1. If cos A= , then the value of tanA is

A. 

B. 

C. 

D. 

Answer: B

4

5

3

5

3

4

4

3

5

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UVhH0tbgcNre


Watch Video Solution

2. If sin , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ =
a

b
cos θ

b

√b2 − a2

b

a

√b2 − a2

b

a

√b2 − a2

3. If cos  and , then the value of  is

A. 

B. 

C. 1

9α = sinα 9α < 90∘ tan 5α

1

√3

√3

https://dl.doubtnut.com/l/_UVhH0tbgcNre
https://dl.doubtnut.com/l/_rGtHl5MrULXp
https://dl.doubtnut.com/l/_agM67wUYiqXZ


D. 0

Answer: C

Watch Video Solution

4. If  is right angled at C, then the value of cos(A+B) is

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

1

2

√3

2

5. If  and , then the value of  issinα =
1

2
cos β =

1

2
(α + β)

https://dl.doubtnut.com/l/_agM67wUYiqXZ
https://dl.doubtnut.com/l/_QfZJjBsZtwGD
https://dl.doubtnut.com/l/_kkNMtYOFESLQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0∘

30∘

60∘

90∘

6. If 4 =3, then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ ( )
4 sin θ − cos θ

4 sin θ − cos θ

2

3

1

3

1

2

3

4

https://dl.doubtnut.com/l/_kkNMtYOFESLQ
https://dl.doubtnut.com/l/_R7rufFST8LyC


7. If  ,then the value of  is

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ − cos θ = 0 sin4 θ + cos4 θ

3

4

1

2

1

4

8. v20

A. 

B. 1

C. 

tan 90∘

sin 45∘

https://dl.doubtnut.com/l/_R7rufFST8LyC
https://dl.doubtnut.com/l/_AZ4Do90GeFiz
https://dl.doubtnut.com/l/_QOXcGKe6ZLJH


D. 0

Answer: D

Watch Video Solution

9.  =

A. 1

B. 9

C. 8

D. 0

Answer: B

Watch Video Solution

9 sec2 A − 9 tan2 A

https://dl.doubtnut.com/l/_QOXcGKe6ZLJH
https://dl.doubtnut.com/l/_Vq4LIi52WyKj


10. The value of 
is equal to


(c) 
(d) 

A. sec A

B. sin A

C. 

D. cos A

Answer: D

Watch Video Solution

[(secA + tanA)(1 − sinA)] tan2 A(b)sin2 A

cosA sinA

cosec A

11. Write the value of 

A. 1

B. 0

C. 2

(1 − sin2 θ)sec2 θ.

https://dl.doubtnut.com/l/_rCrLxYcD1y4U
https://dl.doubtnut.com/l/_GxozKNFBp2aZ


D. 3

Answer: A

Watch Video Solution

12. If  , then  is equal to

A. 2

B. 1

C. 3

D. 4

Answer: B

Watch Video Solution

cosA + cos2 A = 1 sin2 A + sin4 A

13. The value of  is(cosecθ − cot θ)2

https://dl.doubtnut.com/l/_GxozKNFBp2aZ
https://dl.doubtnut.com/l/_eisgKR5P0dX6
https://dl.doubtnut.com/l/_87U6fMJECZX5


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1 + cos θ

1 − cos θ

1 + sin θ

1 − sin θ

1 − cos θ

1 + cos θ

14. Evaluate: .

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

√
1 − sin θ

1 + sin θ

secθ − tan θ

secθ + tan θ

cosec θ − cot θ

cosec θ + cot θ

https://dl.doubtnut.com/l/_87U6fMJECZX5
https://dl.doubtnut.com/l/_2eABDxnu1RHm


Assertion And Reason Based Mcqs

Watch Video Solution

15. Prove that 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

√sec2 θ + cosec2θ = tan θ + cot θ.

tan θ − cot θ

tan θ + cot θ

secθ +  cosecθ

https://dl.doubtnut.com/l/_2eABDxnu1RHm
https://dl.doubtnut.com/l/_kDDpbTFq6D45


1. Assertion (A) : In figure given below ,AC = 5 cm 

 


Reason (R ) : 

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

D. A is false but R is true

sin 60∘ =
√3
2

https://dl.doubtnut.com/l/_IYbfIg0hLRqu


Answer: B

Watch Video Solution

2. Assertion (A) :  


Reason (R ) : The value of sin A can exceed 1

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

D. A is false but R is true

Answer: C

Watch Video Solution

sin 0∘ = 0 and sin 90∘ = 1

3. Assertion (A) : In  , right angled at C and  then cos A =

cos B . 

ΔABC ∠A = ∠B

https://dl.doubtnut.com/l/_IYbfIg0hLRqu
https://dl.doubtnut.com/l/_GxcOreB6xQfM
https://dl.doubtnut.com/l/_ybgAiUGq0Fgc


Reason (R ) : In a triangle , equal opposite sides have equal opposite

angles .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

4. Assertion (A) : Value of  is 1 


Reason (R ) : Value of sin 

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

sec2 10∘ − cot2 80∘

30∘ =
1

2

https://dl.doubtnut.com/l/_ybgAiUGq0Fgc
https://dl.doubtnut.com/l/_0hWq6e133IiS


D. A is false but R is true

Answer: B

Watch Video Solution

5. If , then prove that .

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

cosA + cos2 A = 1 sin2 A + sin4 A = 1

https://dl.doubtnut.com/l/_0hWq6e133IiS
https://dl.doubtnut.com/l/_eRr6qDSFbJtH


6. Assertion (A) :  


Reason (R ) : For any value of 

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

sin2 67∘ + cos2 67∘ = 1

θ, sin2 θ + cos2 θ = 1

7. Assertion (A) :  


Reason (R ) : 

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is NOT the correct explanation of A.

C. A is true but R is false

( )
2

=
1 + cos θ

sin θ

1 + cos θ

1 − cos θ

sin2
θ = cos2 θ − 1

https://dl.doubtnut.com/l/_FlqTmwRDOp0W
https://dl.doubtnut.com/l/_3qDNleTM79Gp


Case Based Mcqs I

D. A is false but R is true

Answer: C

Watch Video Solution

1. An electrician has to repair an electric fault on a pole of height 5 m. She

needs to reach a point 1.3m below the top of the pole to undertake the

repair work. What should be the length of the ladder that she should use

which, when inclined at

A.  m

B. 5 m

C.  m

D.  m

Answer: A

3.7

6.3

1.3

https://dl.doubtnut.com/l/_3qDNleTM79Gp
https://dl.doubtnut.com/l/_2aJak708IHmZ


Watch Video Solution

2. An electrician has to repair an electric fault on a pole of height 5 m. She

needs to reach a point 1.3m below the top of the pole to undertake the

repair work. What should be the length of the ladder that she should use

which, when inclined at

A. 18 m

B. 8 m

C.  m

D. 12 m

Answer: D

Watch Video Solution

13

5

3. An electrician has to repair an electric fault on a pole of height 5 m. She

needs to reach a point 1.3m below the top of the pole to undertake the

https://dl.doubtnut.com/l/_2aJak708IHmZ
https://dl.doubtnut.com/l/_vtatlN3XsNsk
https://dl.doubtnut.com/l/_dCY7K5wt78oK


repair work. What should be the length of the ladder that she should use

which, when inclined at

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Base

Hypptenuse

Perpendicular 

Hypotenuse

(Hypoteνse)/(Base)

Perpendicular

Base

4. An electrician has to repair an electric fault on a pole of height 5 m.

She needs to reach a point 1.3m below the top of the pole to undertake

the repair work. What should be the length of the ladder that she should

use which, when inclined at

A. 0

B. 1

https://dl.doubtnut.com/l/_dCY7K5wt78oK
https://dl.doubtnut.com/l/_3k6M8IzyhABk


C. 

D. 

Answer: D

Watch Video Solution

1

2

√3

2

5. An electrician has to repair an electric fault on a pole of height 5 m. She

needs to reach a point 1.3m below the top of the pole to undertake the

repair work. What should be the length of the ladder that she should use

which, when inclined at

A. 

B. 1

C. 

D. 

Answer: D

W h Vid S l i

1

√2

1

√3

√3

https://dl.doubtnut.com/l/_3k6M8IzyhABk
https://dl.doubtnut.com/l/_qd5IFEH66UvQ


Case Based Mcqs Ii

Watch Video Solution

1. Suppose a girl is sitting on the balcony of her house located on the

bank of river. She is looking down at a flower pot placed on a stair of a

temple situated nearly on other bank of the river. A right triangle is

imagined to be made in this situation as shown in figure. 

 


If height of her house is 12 m , and the distance between her house and

the river is 5 m , then what will be value of  ?

A. 

sin θ

12

13

https://dl.doubtnut.com/l/_qd5IFEH66UvQ
https://dl.doubtnut.com/l/_0SXtnKAcBngt


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

13

12

5

13

12

2. Suppose a girl is sitting on the balcony of her house located on the

bank of river. She is looking down at a flower pot placed on a stair of a

temple situated nearly on other bank of the river. A right triangle is

imagined to be made in this situation as shown in figure. 

 


https://dl.doubtnut.com/l/_0SXtnKAcBngt
https://dl.doubtnut.com/l/_es5XO162Wh1m


If width of the river is 15 m , and angle of depression of flower pot from

balcony is  , then what will be height of the building ?

A.  m

B. m

C. m

D. m

Answer: A

Watch Video Solution

60∘

15√3

15√2

10√2

10√3

3. Suppose a girl is sitting on the balcony of her house located on the

bank of river. She is looking down at a flower pot placed on a stair of a

temple situated nearly on other bank of the river. A right triangle is

imagined to be made in this situation as shown in figure. 

https://dl.doubtnut.com/l/_es5XO162Wh1m
https://dl.doubtnut.com/l/_CbX4UQrBrNUO


 


The angle between foot of the building and river is  .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

……..

60∘

45∘

30∘

90∘

4. Suppose a girl is stitting on the balocny of her house located on the

bank of river. She is looking down at a flower pot placed on a stair of a

temple situated nearly on other bank of the river. A right triangle is

https://dl.doubtnut.com/l/_CbX4UQrBrNUO
https://dl.doubtnut.com/l/_lc3oOAIfxmb6


imagined to be made in this situation as shown in figure. 

 


Value of sin  is 

A. 

B. 1

C. 0

D. 

Answer: D

Watch Video Solution

60∘ …….

1

√2

√3

2

https://dl.doubtnut.com/l/_lc3oOAIfxmb6


5. Suppose a girl is stitting on the balocny of her house located on the

bank of river. She is looking down at a flower pot placed on a stair of a

temple situated nearly on other bank of the river. A right triangle is

imagined to be made in this situation as shown in figure. 

Write the value of sin 


A. 

B. 0

C. 1

D. 

Answer: A

Watch Video Solution

30∘

1

2

√3

2

https://dl.doubtnut.com/l/_ogznJj1cNdid


Case Based Mcqs Iii

1. If  


Find the Value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot θ =
7

8

cot2 θ

7

8

49

64

56

78

√
7

8

2. If  


Find the value of 

cot θ =
7

8

sin θ

https://dl.doubtnut.com/l/_ogznJj1cNdid
https://dl.doubtnut.com/l/_dZXAH0JHRQsT
https://dl.doubtnut.com/l/_ZzRw64zyiTsY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8

113

7

√113

8

√113

6

√113

3. If  .Find the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot θ =
7
8

cos θ

8

113

7

√113

8

√113

6

√113

https://dl.doubtnut.com/l/_ZzRw64zyiTsY
https://dl.doubtnut.com/l/_1iVTRbUPnzIA


4. If  then find the value 

A. 

B. 1

C. 

D. none of these

Answer: C

Watch Video Solution

cot θ =
7
8

(1 − sin θ)(1 + sin θ)

(1 − cos θ)(1 + cos θ)

64
49

49
64

5. If  


Find the value of  .

A. 1

B. 0

cot θ =
7
8

sin2 θ + cos2 θ

https://dl.doubtnut.com/l/_1iVTRbUPnzIA
https://dl.doubtnut.com/l/_N9N5WHimhIb2
https://dl.doubtnut.com/l/_LFikP63kqlcS


Example

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

3

1. Evaluate : 

Watch Video Solution

5 cos2 60∘ + 4 cos2 30∘ − tan2 45∘

sin2 30∘ + cos2 60∘

2. Prove the following trigonometric identities:

Watch Video Solution

cot θ − tan θ =
2 cos2 θ − 1

sin θ cos θ

https://dl.doubtnut.com/l/_LFikP63kqlcS
https://dl.doubtnut.com/l/_5yQiWo3HPs89
https://dl.doubtnut.com/l/_oqHqE3tF8z0j


Self Assessment 1 I Objective Type Questions A Multiple Choice Questions

1. If triangle ABC is right angled at C, then the value of sec (A+B) is

A. 0

B. 1

C. 

D. not defined

Answer:

Watch Video Solution

2√3

2. If  then value of  is

A. 

B. 

C. 

sin θ + cos θ = √2 cos θ, (θ ≠ 90∘ ) tan θ

√2 − 1

√2 + 1

√2

https://dl.doubtnut.com/l/_QeZRtkxPgMKU
https://dl.doubtnut.com/l/_ZpPaVQxsJBIr


Self Assessment 1 I Objective Type Questions B Fill In The Blanks

D. 

Answer:

Watch Video Solution

−√2

3. Given that  , then the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sinα = and cos β = 0
√3

2
β − α

0∘

90∘

60∘

30∘

https://dl.doubtnut.com/l/_ZpPaVQxsJBIr
https://dl.doubtnut.com/l/_YsyfUwA4L3fv
https://dl.doubtnut.com/l/_6VXTtS208utY


Self Assessment 1 I Objective Type Questions C Very Short Answer Type

Questions

1. Value of  is __________.

Watch Video Solution

cos 0∘ . cos 30∘ . cos 45∘ . cos 60∘ . cos 90∘

2. Value of  is _____

Watch Video Solution

(sin 30∘ + cos 30∘ ) − (sin 60∘ + cos 60∘ )

1. If sin  , then find the value of 2 tan .

Watch Video Solution

θ = cos θ θ + cos2 θ

2. If  then find the value of 

Watch Video Solution

tan(3x + 30∘ ) = 1 x

https://dl.doubtnut.com/l/_6VXTtS208utY
https://dl.doubtnut.com/l/_c4SnX6mCkOS0
https://dl.doubtnut.com/l/_Acl7vo7lA8YQ
https://dl.doubtnut.com/l/_HcT9a0Q1HKAR


Self Assessment 1 Ii Short Answer Type Questions I

3. If , then find the value of .

Watch Video Solution

secθ. sin θ = 0 θ

1. In the given figure, AOB is a diameter of a circle with centre O. Find tan

A tan B. 

Watch Video Solution

https://dl.doubtnut.com/l/_KEwJ7lbgA675
https://dl.doubtnut.com/l/_uKzvN21aVFKL


Self Assessment 1 Iii Short Answer Type Questions Ii

Self Assessment 1 Iv Long Answer Type Questions

1. Find acute angles 
 if 

Watch Video Solution

AandB,

sin(A + 2B) = and cos(A + 4B) = 0, A > B.
√3

2

2. If in a triangle ABC right angled at B, AB = 6 units and BC = 8 units, then

find the value of sin A. cos C + cos A. sin C.

Watch Video Solution

3. If , evaluate 

Watch Video Solution

4 tan θ = 3 ( )
4 sin θ − 2 cos θ + 3

4 sin θ + 2 cos θ − 5

https://dl.doubtnut.com/l/_xlIaOeg1VgbW
https://dl.doubtnut.com/l/_xMCWkMrY22Bu
https://dl.doubtnut.com/l/_sO6VDIko4zMZ
https://dl.doubtnut.com/l/_e3EWFwacJJvj


Self Assessment 2 I Objective Type Questions A Multiple Choice Questions

1. Evaluate :

Watch Video Solution

tan2 30∘ sin2 30∘ + cos 60∘ sin2 90∘ tan2 60∘ − 2tan 45∘ cos2 0∘ sin 90∘

2. Evaluate :

Watch Video Solution

sin2 30∘ cos2 45∘ + 4 tan2 30∘ + sin2 90∘ − 2 cos2 90∘ +
1

2

1

24

3. What is the value of 

?

Watch Video Solution

4(sin4 30∘ + cos4 60∘ ) − 3(cos2 45∘ − sin2 90∘ )

https://dl.doubtnut.com/l/_e3EWFwacJJvj
https://dl.doubtnut.com/l/_sZobup5O4mLq
https://dl.doubtnut.com/l/_LaWc7nNrC5Mz


1. Find the value of 

A. 1

B. 

C. 

D. 2

Answer:

Watch Video Solution

sin4 θ + cos4 θ

1 − 2 sin2 θ cos2 θ

−1

−2

2. 

A. 

B. 

C. 

D. 

√ =
1 − cosA

1 + cosA

cosecA + cot A

cosecA − cot A

cosecA cot A

−cosecA. cot A

https://dl.doubtnut.com/l/_2lQluVVyv0Ts
https://dl.doubtnut.com/l/_Nl53fLrPUwyy


Self Assessment 2 I Objective Type Questions B Fill In The Blanks

Answer:

Watch Video Solution

3.   


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√(1 − cos2 θ)sec2 θ [ ∴ sin2 θ + cos2 θ = 1]

= √sin2 θ = √tan2 θ = tan θ
.1

cos2 θ

[ ∴ secθ = , tan θ = ]
1

cos θ

sin θ

cos θ

secθ

tan θ

sin θ

sec2 θ

https://dl.doubtnut.com/l/_Nl53fLrPUwyy
https://dl.doubtnut.com/l/_GI7IsNSTUWCj


Self Assessment 2 I Objective Type Questions C Very Short Answer Type

Questions

1. Prove that : 

Watch Video Solution

1 + = cesecα
cot2 α

1 + cosecα

2. If  then the value  is _______

Watch Video Solution

sinA =
√3

2
2 cot2 A − 1

3. If  be an acute angle and , then value of  - 1 =

______

Watch Video Solution

θ 5cosecθ = 7 sin θ + cos2 θ

1. Write the
value of 
.cot2 θ −
1

sin2 θ

https://dl.doubtnut.com/l/_WF6xnl3A2hvt
https://dl.doubtnut.com/l/_40hPvwL9peFy
https://dl.doubtnut.com/l/_IJqeWRll9tWw
https://dl.doubtnut.com/l/_fCtZwizAjlu3


Self Assessment 2 I Objective Type Questions Ii Short Answer Type

Questions I

Watch Video Solution

2. If  find the value of 

Watch Video Solution

cosA = ,
2

5
4 + 4 tan2 A.

3. If , then find the value of k

Watch Video Solution

k + 1 = (sec2 θ)(1 + sin θ)(1 − sin θ)

1. Express the trigonometric ratio of sec A and tan A in terms of sin A.

Watch Video Solution

https://dl.doubtnut.com/l/_fCtZwizAjlu3
https://dl.doubtnut.com/l/_u4HXSndnI8UA
https://dl.doubtnut.com/l/_gw3QBZHf76p8
https://dl.doubtnut.com/l/_2gN5UdhP39eI


Self Assessment 2 I Objective Type Questions Iii Short Answer Type

Questions Ii

2. 

Watch Video Solution

√ = secA + tanA
1 + sinA

1 − sinA

3. Prove that 

Watch Video Solution

= sec2 θ − 2 sin2 θ
1 + tan4 θ

1 + tan2 θ

1. Prove that : 

Watch Video Solution

=
tanA + sinA

tanA − sinA

secA + 1

secA − 1

2. Prove that : 

Watch Video Solution

− = cosA − sinA
cosA

1 + tanA

sinA

1 + cot A

https://dl.doubtnut.com/l/_loiEXP3tR8A8
https://dl.doubtnut.com/l/_pzL5pmxAvvs7
https://dl.doubtnut.com/l/_8DFqTgTf1Ywz
https://dl.doubtnut.com/l/_OOTBlBYVLJsk


Self Assessment 2 I Objective Type Questions Iv Long Answer Type Questions

Ii

Self Assessment 2 I Objective Type Questions Vi Case Study Based Questions

1. Prove that 

Watch Video Solution

+ cos ec2 =
tan2 A

tan2 A − 1

A

sec2 A − cos ec2A

1

1 − 2 cos2 A

2. Prove that : 

Watch Video Solution

√ + √ = 2cosecθ
secθ − 1

secθ + 1

secθ + 1

secθ − 1

3. If , then 

Watch Video Solution

cos ecθ + cot θ = p cos θ =

https://dl.doubtnut.com/l/_OOTBlBYVLJsk
https://dl.doubtnut.com/l/_2StdyVQwQ8jR
https://dl.doubtnut.com/l/_de6jzCR1Cf64
https://dl.doubtnut.com/l/_NTMfKGyke8U1


1.  


 is a right triangle, right angled at B.  is a given acute angle. So

side BC is base, a side AB is altitude and side AC is hypotenuse for given

acute angle C. 

Find the ratio of sin C.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC ∠C

Altitude

Hypotenuse

Hypotenuse

Altitude

Base

Altitude

Hypotenuse

Base

https://dl.doubtnut.com/l/_SqKNA3s2Gll9


Watch Video Solution

2.  


 is a right triangle, right angled at B.  is a given acute angle. So

side BC is base, a side AB is altitude and side AC is hypotenuse for given

acute angle C. 

Find the ratio of secant of 

A. 

B. 

C. 

D. 

ΔABC ∠C

∠C

Altitude

Hypotenuse

Base

Hypotenuse

Hypotenuse

Base

Base

Altitude

https://dl.doubtnut.com/l/_SqKNA3s2Gll9
https://dl.doubtnut.com/l/_LsVOBagYemM7


Answer: C

Watch Video Solution

3.  


 is a right triangle, right angled at B.  is a given acute angle. So

side BC is base, a side AB is altitude and side AC is hypotenuse for given

acute angle C. 

 is equal to ______

A. tan C

B. cot C

ΔABC ∠C

Base

Altitude

https://dl.doubtnut.com/l/_LsVOBagYemM7
https://dl.doubtnut.com/l/_oPgRdma80NgC


C. sin C

D. cosec C

Answer: B

Watch Video Solution

4.  


 is a right triangle, right angled at B.  is a given acute angle. So

side BC is base, a side AB is altitude and side AC is hypotenuse for given

acute angle C. 

 is equal to ______

ΔABC ∠C

Hypotenuse

Altitude

https://dl.doubtnut.com/l/_oPgRdma80NgC
https://dl.doubtnut.com/l/_5t49JNoEnFvW


A. tan C

B. sin C

C. sec C

D. cosec C

Answer: D

Watch Video Solution

5.  


 is a right triangle, right angled at B.  is a given acute angle.△ ABC ∠C

https://dl.doubtnut.com/l/_5t49JNoEnFvW
https://dl.doubtnut.com/l/_D1i4MSTC42gI


So side BC is base, a side AB is altitude and side AC is hypotenuse for

given acute angle C. The ratio  is equal to ________

A. cos C

B. tan C

C. cosec C

D. sin C

Answer: A

Watch Video Solution

BC

AC

https://dl.doubtnut.com/l/_D1i4MSTC42gI


6.  


 is a right triangle , right angle at B . Given the ratio of altitude

and base  . Find the value of AC

A. 3 K

B. 5 K

C. 4 K

D. 6 K

Answer: B

Watch Video Solution

ΔABC

tanA =
4
3

https://dl.doubtnut.com/l/_V95h6KNoOlMV
https://dl.doubtnut.com/l/_ks4vPB1SFhGR


7.  


 is a right triangle , right angle at B . Given the ratio of altitude

and base . Find the ratio of sin A

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC

tanA =
4

3

4

5

5

3

3

5

5

4

https://dl.doubtnut.com/l/_ks4vPB1SFhGR


8.  


 is a right triangle , right angle at B . Given the ratio of altitude

and base  .Find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC

tanA =
4
3

sinA × tanA

4
15

15

16

16

25

16

15

https://dl.doubtnut.com/l/_ks4vPB1SFhGR
https://dl.doubtnut.com/l/_0ljloDCSaQOO


9.  


 is a right triangle , right angle at B . Given the ratio of altitude

and base  . Find the value of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC

tanA =
4
3

(1 + tan2 A)

25

9

9

25

16

25

25

16

https://dl.doubtnut.com/l/_0ljloDCSaQOO
https://dl.doubtnut.com/l/_vk3WeMbfStBH


10.  


 is a right triangle , right angle at B . Given the ratio of altitude

and base .Find the value of cot A .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC

tanA =
4
3

4
3

3

4

4
5

3

5

https://dl.doubtnut.com/l/_vk3WeMbfStBH
https://dl.doubtnut.com/l/_bNwk9NtdGjWq


11. In 
 ,
 right-angled at 
and 
 . Determine


and 
.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

PQR Q,  PQ = 3cm PR = 6cm

∠P ∠R

30∘

60∘

45∘

90∘

12. In 
 ,
 right-angled at 
and 
 . Determine


and 
.

A. 

B. 

PQR Q,  PQ = 3cm PR = 6cm

∠P ∠R

30∘

45∘

https://dl.doubtnut.com/l/_bNwk9NtdGjWq
https://dl.doubtnut.com/l/_mIcAEkuVqenr
https://dl.doubtnut.com/l/_dHz8O8dHyjGA


C. 

D. 

Answer:

Watch Video Solution

60∘

90∘

13. In  right angled at Q , PQ = 3 cm and PR = 6 cm . 

Determine side QR.

A.  cm

B.  cm

C. 6 cm

D.  cm

Answer:

Watch Video Solution

ΔPQR

√3

2√3

3√3

https://dl.doubtnut.com/l/_dHz8O8dHyjGA
https://dl.doubtnut.com/l/_E9XQ6hDIeGx3
https://dl.doubtnut.com/l/_LQQmmrHagENv


14. In  ,  is right - angled . If AB= 1 cm , AC =3 cm and BC = 

cm , then find the values of cos B and sin C.

A. 0

B. 

C. 1

D. 

Answer:

Watch Video Solution

ΔABC ∠A √10

√3

2

1

4

15. The value of  is :

A. 

B. 

C. 

D. 

2tan 30∘

1 − tan2 30∘

2√3

2

√3

√3

1

√3

https://dl.doubtnut.com/l/_LQQmmrHagENv
https://dl.doubtnut.com/l/_2jTVVefGGOaV


Ncert Corner Textbook Questions Exercise 8 1

Answer:

Watch Video Solution

1. In  , right - angled at B , AB = 24 cm , BC = 7 cm . 


Watch Video Solution

ΔABC

sinA, cosA

2. In  , right - angled at B , AB = 24 cm , BC = 7 cm . 


Watch Video Solution

ΔABC

sinC, cosC

https://dl.doubtnut.com/l/_2jTVVefGGOaV
https://dl.doubtnut.com/l/_A7d1OhYCAB5q
https://dl.doubtnut.com/l/_qdMO6su1ybzo


3. In given figure , find  


Watch Video Solution

tanP − cot R.

4. If
 
,
calculate cos A and tan A.

Watch Video Solution

s ∈ A =
3

4

https://dl.doubtnut.com/l/_6190DQcro0bh
https://dl.doubtnut.com/l/_TIA61bFcbSa7


5. Given , find  and .

Watch Video Solution

15 cot A = 8 sinA secA

6. Given , calculate all other trigonometric ratios.

Watch Video Solution

secθ =
13

12

7. If  are acute angles such that cos A= cos B, then show then

show that .

Watch Video Solution

∠A and ∠B

∠A = ∠B

8. If , evaluate:(i)  (ii) 

Watch Video Solution

cot θ =
7
8

(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)
cot2 θ

https://dl.doubtnut.com/l/_c8mIjEBKLek6
https://dl.doubtnut.com/l/_96ffhfNtgpr6
https://dl.doubtnut.com/l/_YM1S9KSuIff3
https://dl.doubtnut.com/l/_IwgIGzOyDoeI


9. If  , evaluate : 


Watch Video Solution

cot θ =
7
8

cot2 θ

10. If , check whether or not.

Watch Video Solution

3 cot A = 4 = cos2 A − sin2 A
1 − tan2 A

1 + tan2 A

11. In triangle ABC, right-angled at B. if ,find the value of:

Watch Video Solution

tanA =
1

√3

sinA cosC + cosA sinC

12. In triangle ABC, right-angled at B. if ,find the value of:

Watch Video Solution

tanA =
1

√3

sinA cosC + cosA sinC

https://dl.doubtnut.com/l/_tSi9fTmxgp4r
https://dl.doubtnut.com/l/_kFfQxcqrTdXS
https://dl.doubtnut.com/l/_e7s51sozmrr0
https://dl.doubtnut.com/l/_lFRHh2sX8NQX


13. In  , right - angled at Q , PR +QR = 25 cm and PQ = 5cm .

Determine the values of sin P , cos P and tan P.

Watch Video Solution

ΔPQR

14. State whether the following are true or false. Justify your Solution. 

The value of tan A is always less than 1.

Watch Video Solution

15. State whether the following are true or false. Justify your Solution. 

for some value of angle A.

Watch Video Solution

sec =
12

5

https://dl.doubtnut.com/l/_lFRHh2sX8NQX
https://dl.doubtnut.com/l/_TlQQJyHusTt3
https://dl.doubtnut.com/l/_tdf67klpgxhM
https://dl.doubtnut.com/l/_3gIhhBtFvWM2


Ncert Corner Textbook Questions Exercise 8 2

16. State whether the following are true or false. Justify your Solution. 

cos A is the abbreviation used for the cosecant of angle A.

Watch Video Solution

17. State whether the following are true or false. Justify your Solution. 

cot A is the product of cot and A.

Watch Video Solution

18. State whether the following are true or false. Justify your Solution. 

 for some angle  .

Watch Video Solution

sin θ =
4
3

θ

https://dl.doubtnut.com/l/_gImZ0DryNRY6
https://dl.doubtnut.com/l/_yPIJ1SxJBfd0
https://dl.doubtnut.com/l/_vuG53w28oDQS


1. Evalulate the following : 

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 60∘

2. Find the value of 2 .

Watch Video Solution

tan2 45∘ + cos2 30∘ − sin2 60∘

3. Evaluate : 

Watch Video Solution

cos 45∘

sec 30∘ + cosec 30∘

4. Evaulate : 

Watch Video Solution

4 −
sin 30∘ + tan 45∘ − cosec60∘

sec 30∘ + cos 60∘ + cos 45∘

https://dl.doubtnut.com/l/_gKSCrd4sc2tA
https://dl.doubtnut.com/l/_EkA6F4qAzBUC
https://dl.doubtnut.com/l/_f35QDKICbqBB
https://dl.doubtnut.com/l/_CLJptTwsRaGz


5. Evaluate : 

Watch Video Solution

5 cos2 60∘ + 4 sec2 30∘ − tan2 45∘

sin2 30∘ + cos2 30∘

6. Choose
the correct option and justify your choice : (i) 

(ii) 
`(a)"\ "t a

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

=
2 tan 30o

1 + tan2 30o

(a)\ s ∈ \ 60o (b)\ cos \ 60o (c)\ tan\ 60o                  (d)\ s ∈ \ 30o

=
1 − tan2 45o

1 + tan2 45o

sin 60∘

cos 60∘

tan 60∘

sin 30∘

https://dl.doubtnut.com/l/_c6CrUO2s3yxS
https://dl.doubtnut.com/l/_HcwH7eMy1LFI


7. v20

A. 

B. 1

C. 

D. 0

Answer: D

Watch Video Solution

tan 90∘

sin 45∘

8. Choose the correct option and justify your choice. 

 is true when A =

A. 

B. 

C. 

sin 2A = 2 sinA

0∘

30∘

45∘

https://dl.doubtnut.com/l/_F81N59zDRAtu
https://dl.doubtnut.com/l/_0uDoRMv79jHs


D. 

Answer: A

Watch Video Solution

60∘

9. Choose
the correct option and justify your choice : (i) 

(ii) 
`(a)"\ "t a

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
2 tan 30o

1 + tan2 30o

(a)\ s ∈ \ 60o (b)\ cos \ 60o (c)\ tan\ 60o                  (d)\ s ∈ \ 30o

=
1 − tan2 45o

1 + tan2 45o

cos 60∘

sin 60∘

tan 60∘

sin 30∘

https://dl.doubtnut.com/l/_0uDoRMv79jHs
https://dl.doubtnut.com/l/_UlwC0XlNuBpa
https://dl.doubtnut.com/l/_0BMojZTg12I3


10. If  and

 , find A and B .

Watch Video Solution

tan(A + B) = √3

tan(A − B) = , 0∘ < A + B ≤ 90∘ , A > B
1

√3

11. State whether the following are true or false. Justify your answer.
 (i)


 .
 (ii) The value of 
 increases as 

increases.
(iii) The value of 
increases as 
increases.
(iv) 

for all v

Watch Video Solution

s ∈ (A + B) = sinA + s ∈ B sin θ θ

cos θ θ sin θ = cos θ

12. State whether the following are true or false. Justify your answer.
 (i)


 .
 (ii) The value of 
 increases as 

increases.
(iii) The value of 
increases as 
increases.
(iv) 

for all v

Watch Video Solution

s ∈ (A + B) = sinA + s ∈ B sin θ θ

cos θ θ sin θ = cos θ

https://dl.doubtnut.com/l/_0BMojZTg12I3
https://dl.doubtnut.com/l/_3yRrF8dFJwYy
https://dl.doubtnut.com/l/_E4yjjUd5jXci


13. State whether the following are true or false. Justify your answer.
 (i)


 .
 (ii) The value of 
 increases as 

increases.
(iii) The value of 
increases as 
increases.
(iv) 

for all v

Watch Video Solution

s ∈ (A + B) = sinA + s ∈ B sin θ θ

cos θ θ sin θ = cos θ

14. state True or false and jastify  for all values of .

Watch Video Solution

sin θ = cos θ θ

15. State whether the following are true or false. Justify your answer.
 (i)


 .
 (ii) The value of 
 increases as 

increases.
(iii) The value of 
increases as 
increases.
(iv) 

for all v

Watch Video Solution

s ∈ (A + B) = sinA + s ∈ B sin θ θ

cos θ θ sin θ = cos θ

https://dl.doubtnut.com/l/_Rns5GgcNpqri
https://dl.doubtnut.com/l/_mmPBTXdL5IR6
https://dl.doubtnut.com/l/_P8uC6hRFHrLZ


Ncert Corner Textbook Questions Exercise 8 3

1. Evaluate : 

Watch Video Solution

sin 18∘

cos 72∘

2. Evaluate : 

Watch Video Solution

tan 26∘

cot 64∘

3. Evaluate : 

Watch Video Solution

cos 48∘ − sin 42∘

https://dl.doubtnut.com/l/_09aPkcBgyUlC
https://dl.doubtnut.com/l/_aaG3LDoOqFS3
https://dl.doubtnut.com/l/_i6CooWKVHaHy


4. Evaluate : 

Watch Video Solution

cosec31∘ − sec 59∘

5. Show that .

Watch Video Solution

tan 48∘ tan 23∘ tan 42∘ tan 67∘ = 1

6. Evaluate : .

Watch Video Solution

cos 38∘ cos 52∘ − sin 38∘ sin 52∘

7. If tan A  where 2A is an acute angle , find the value of

A.

Watch Video Solution

= cot(A − 18∘ )

https://dl.doubtnut.com/l/_MnkBTZeIR5bn
https://dl.doubtnut.com/l/_d3Vm2U5GggYR
https://dl.doubtnut.com/l/_N2Cmp4kyRWvL
https://dl.doubtnut.com/l/_evtXEMwF4g0h
https://dl.doubtnut.com/l/_76uYQPPtbpF5


8. If tan A = cot B , prove that A + B =  .

Watch Video Solution

90∘

9. If sec 4A = cosec , where 4A is an acute angle, find the value

of A.

Watch Video Solution

(A − 20∘ )

10. If A, B and C are interior angles of a triangle ABC, then show that

.

Watch Video Solution

sin( ) =
B + C

2

cosA

2

11. Express  in terms of trigonometric ratios of angles

between .

Watch Video Solution

s ∈ 67 ⊕ cos 75o

0o and 45o

https://dl.doubtnut.com/l/_76uYQPPtbpF5
https://dl.doubtnut.com/l/_YDb0QpIYaE1E
https://dl.doubtnut.com/l/_cPsAlhGEimzy
https://dl.doubtnut.com/l/_ppKyLLVPKMGj


Ncert Corner Textbook Questions Exercise 8 4

1. Express the trigonometric ratios sin A, sec A and tan A in terms of
cot A.

Watch Video Solution

2. Write all the other trigonometric ratios of in terms of sec A.

Watch Video Solution

∠A

3. Evaluate:
 (i) 
 (ii) 

Watch Video Solution

sin2 63 ⊕ sin2 27o

cos2 17 ⊕ cos2 73o

s ∈ 25o\ cos 65 ⊕ cos \ 25os ∈ \ 65o

4. Evaluate: sin .25∘ cos 65∘ + cos 25∘ sin 65∘

https://dl.doubtnut.com/l/_ppKyLLVPKMGj
https://dl.doubtnut.com/l/_wcbwxnZgkFza
https://dl.doubtnut.com/l/_N6HfgqzrhZBU
https://dl.doubtnut.com/l/_l7ntrEOGRvzD
https://dl.doubtnut.com/l/_OsQt1gS3vfja


Watch Video Solution

5. Choose the correct option. 

 


A. 1

B. 8

C. 9

D. 0

Answer: B

Watch Video Solution

9 sec2 A − 9 tan2 A =

6.  is equal to :

A. 0

B. 1

(1 + tan θ + secθ)(1 + cot θ − cosec θ)

https://dl.doubtnut.com/l/_OsQt1gS3vfja
https://dl.doubtnut.com/l/_QT5gvxazy50i
https://dl.doubtnut.com/l/_R3DYI3dbunna


C. 2

D. 

Answer: C

Watch Video Solution

−1

7. Choose the correct optioin . Justify your choice. 

 =

A. sec A

B. sin A

C. cosec C

D. cos A

Answer: D

Watch Video Solution

(secA + tanA)(1 − sinA)

https://dl.doubtnut.com/l/_R3DYI3dbunna
https://dl.doubtnut.com/l/_87GvVtYfhZbD
https://dl.doubtnut.com/l/_67zQssQ2yBPy


8. Choose the correct optioin . Justify your choice. 

=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 + tan2 A

1 + cot2 A

sec2 A

−1

cot2 A

tan2 A

9. Prove
the following identity, where the angles involved are acute angles

for which
 the expressions are defined.
 (i)

Watch Video Solution

(c o s e c\ θ cot θ)2 =
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_67zQssQ2yBPy
https://dl.doubtnut.com/l/_gTVbM7sotkzR


10. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(ii)

Watch Video Solution

+ = 2 secA
cosA

1 + sinA

1 + sinA

cosA

11. Prove
 the following identity, where the angles involved are acute

angles for which
 the expressions are defined.
 (iii)

Watch Video Solution

+ = 1 + secθ\ c o s e c\ θ
tan θ

1 − cot θ

cot θ

1 − tan θ

12. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(iv)

Watch Video Solution

=
1 + secA

secA

sin2 A

1 − cosA

https://dl.doubtnut.com/l/_x7FqFGcN8tI8
https://dl.doubtnut.com/l/_NT6Fato1Tw4y
https://dl.doubtnut.com/l/_uS9Hlzh3syGV
https://dl.doubtnut.com/l/_O4tyHcarAW0J


13. Prove that 

Watch Video Solution

= .
cot θ + cosecθ − 1

cot θ − cosecθ + 1

1 + cos θ

sin θ

14. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(vi)

Watch Video Solution

√ = secA + tanA
1 + sinA

1 − sinA

15. Prove the following identities, where the angles involved are acute

angles for which the expressions are defined. 

Watch Video Solution

= tan θ
sin θ − 2 sin3 θ

2 cos3 θ − cos θ

https://dl.doubtnut.com/l/_O4tyHcarAW0J
https://dl.doubtnut.com/l/_dW6sWmpuC8o2
https://dl.doubtnut.com/l/_jt6r8Cw9zk80


16. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(viii)

Watch Video Solution

(sinA + cos ecA)2 + (cosA + secA)2 = 7 + tan2 A + cot2 A

17. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(ix)

[Hint : Simplify LHS

and RHS separately]

Watch Video Solution

(cosec A  sin A)(secA − cosA) =
1

tanA + cot A

18. Prove the following identity, where the angles involved are acute

angles for which the expressions are defined.(x)

Watch Video Solution

( ) = ( )
2

= tan2 A
1 + tan2 A

1 + cot2 A

1 − tanA

1 − cot A

https://dl.doubtnut.com/l/_GGu1G7caN9Ia
https://dl.doubtnut.com/l/_veDUN2I4pnus
https://dl.doubtnut.com/l/_aRaXntGTC7sN


Ncert Exemplar Exercise 8 1 Choose The Correct Answer From The Given

Four Options

1. If cos A= , then the value of tanA is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4
5

3

5

3

4

4
3

5

3

2. if , then the value of 

A. 

sinA =
1

2
cot A

√3

https://dl.doubtnut.com/l/_aRaXntGTC7sN
https://dl.doubtnut.com/l/_b3axbBax4OLn
https://dl.doubtnut.com/l/_HESNQMzqqbDj


B. 

C. 

D. 1

Answer: A

Watch Video Solution

1

√3

√3

2

3. The value of the expression cosec

 is

A. 

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

(75∘ + θ) − sec(15∘ ) − θ) − tan(55∘ + θ) + cot(35∘ − θ)

−1

3

2

https://dl.doubtnut.com/l/_HESNQMzqqbDj
https://dl.doubtnut.com/l/_aryJhuuygfw7


4. If sin , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ =
a

b
cos θ

b

√b2 − a2

b

a

√b2 − a2

b

a

√b2 − a

5. If , then sin  can be reduced to

A. 

B. 

C. 

D. 

cos(α + β) = 0 (α − β)

cos β

cos 2β

sinα

sin 2α

https://dl.doubtnut.com/l/_aryJhuuygfw7
https://dl.doubtnut.com/l/_0yprgVGHyUJ1
https://dl.doubtnut.com/l/_Cuh7Ahg64h3S


Answer: B

Watch Video Solution

6. Value of  is :

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

(tan 1∘ tan 2∘ tan 3∘ ...tan 89∘ )

1

2

7. If cos  and , then the value of  is

A. 

9α = sinα 9α < 90∘ tan 5α

1

√3

https://dl.doubtnut.com/l/_Cuh7Ahg64h3S
https://dl.doubtnut.com/l/_YbeVuvzqPdLo
https://dl.doubtnut.com/l/_oss2hVHvFbD5


B. 

C. 1

D. 0

Answer: C

Watch Video Solution

√3

8. If  is right angled at C, then the value of cos(A+B) is

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

1

2

√3

2

https://dl.doubtnut.com/l/_oss2hVHvFbD5
https://dl.doubtnut.com/l/_fPwaAa1dOhI1
https://dl.doubtnut.com/l/_2hIzzJm5rqo4


9. If  then the value of the expression 

 is

A. 1

B. 

C. 2

D. 3

Answer: A

Watch Video Solution

sinA + sin2 A = 1,

(cos2 A + cos4 A)

1

2

10. If  and , then the value of  is

A. 

B. 

C. 

D. 

sinα =
1

2
cos β =

1

2
(α + β)

0∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_2hIzzJm5rqo4
https://dl.doubtnut.com/l/_nkRIBpabFdXT


Answer: D

Watch Video Solution

11. Find the value of

A. 3

B. 2

C. 1

D. 0

Answer: B

Watch Video Solution

[ + sin2 63∘ + cos 63∘ sin 27∘ ]
sin2 22∘ + sin2 68∘

cos2 22∘ + cos2 68∘

12. If 4 =3, then  is equal totan θ ( )
4 sin θ − cos θ

4 sin θ − cos θ

https://dl.doubtnut.com/l/_nkRIBpabFdXT
https://dl.doubtnut.com/l/_ttmQAPYeDqkb
https://dl.doubtnut.com/l/_NhWFZaUGq4ka


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

1

3

1

2

3

4

13. if  then the value of  is

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ − cos θ = 0, (sin4 θ + cos4 θ)

3

4

1

2

1

4

https://dl.doubtnut.com/l/_NhWFZaUGq4ka
https://dl.doubtnut.com/l/_ASrNu7DiuTY5


Ncert Exemplar Exercise 8 2 True Or False

14. The value of  is

A. 

B. 0

C. 

D. 1

Answer: B

Watch Video Solution

sin(45∘ + θ) − cos(45∘ − θ)

2 cos θ

2 sin θ

1. value of 

Watch Video Solution

=
tan 47∘

cot 43∘

https://dl.doubtnut.com/l/_ASrNu7DiuTY5
https://dl.doubtnut.com/l/_A5MQ2NvJfmqy
https://dl.doubtnut.com/l/_1hl88xikVvZZ
https://dl.doubtnut.com/l/_fzAEcBiXdVki


2. The value of the expression  is

Watch Video Solution

(cos2 23∘ − sin2 67∘ )

3. The value of the expression  is negative.

Watch Video Solution

(sin 80∘ − cos 80∘ )

4.   


Watch Video Solution

√(1 − cos2 θ)sec2 θ [ ∴ sin2 θ + cos2 θ = 1]

= √sin2 θ = √tan2 θ = tan θ
.1

cos2 θ

[ ∴ secθ = , tan θ = ]
1

cos θ

sin θ

cos θ

5. If  , then  is equal to

Watch Video Solution

cosA + cos2 A = 1 sin2 A + sin4 A

https://dl.doubtnut.com/l/_fzAEcBiXdVki
https://dl.doubtnut.com/l/_SAeDEi3Qn2N9
https://dl.doubtnut.com/l/_skmu8e0aNTEk
https://dl.doubtnut.com/l/_DhI1AJprQ7cE
https://dl.doubtnut.com/l/_b7nIDSLAJTjZ


Ncert Exemplar Exercise 8 3

6.  . Write 'True' or 'False' and

justify your Solution.

Watch Video Solution

(tan θ + 2)(2 tan θ + 1) = 5 tan θ + sec2 θ

7. The value of  can be a , where a is a positive number and 

.

Watch Video Solution

2 sin θ +
1

a

a ≠ 1

8. , where a and b are two distinct numbers such that 

.

Watch Video Solution

cos θ =
a2 + b2

2ab

ab > 0

https://dl.doubtnut.com/l/_b7nIDSLAJTjZ
https://dl.doubtnut.com/l/_EuRTtiW6bb0l
https://dl.doubtnut.com/l/_bJ2EzJ0fPZSJ


1. Prove that : 

Watch Video Solution

+ = 2cosecθ
sin θ

1 + cos θ

1 + cos θ

sin θ

2. Prove the following 

Watch Video Solution

− = 2cosecA
tanA

1 + secA

tanA

1 − secA

3. If , then .

Watch Video Solution

tanA =
3

4
sinA cosA =

4. Prove that 

Watch Video Solution

(sinα + cosα)(tanα + cot α) = secα + cosecα

https://dl.doubtnut.com/l/_PYbCi1jEbe3J
https://dl.doubtnut.com/l/_EMj9nUKqlxOL
https://dl.doubtnut.com/l/_jve4jzp1H4hK
https://dl.doubtnut.com/l/_QTZlkwgoUMna


5. Prove that 

Watch Video Solution

(√3 + 1)(3 − cot 30∘ ) = tan3 (60) ∘ − 2sin 60∘

6. Prove that : 

Watch Video Solution

1 + = cesecα
cot2 α

1 + cosecα

7. 

Watch Video Solution

tan θ + tan(90∘ − θ) = secθ × sec(90∘ − θ)

8. If  then find value of 

Watch Video Solution

√3 tan θ = 1 sin2 θ − cos2 θ

9. Simplify (1 + tan2 θ)(1 − sin θ)(1 + sin θ)

https://dl.doubtnut.com/l/_lRFKCYgtg8dW
https://dl.doubtnut.com/l/_qlvO6epUCPtx
https://dl.doubtnut.com/l/_uSJOC997ga0V
https://dl.doubtnut.com/l/_3Wt3e4mVVpHk
https://dl.doubtnut.com/l/_KKQcqZ9Xk9qG


Ncert Exemplar Exercise 8 4

Watch Video Solution

10. If  then find the vlaue of 

Watch Video Solution

2 sin2 θ − cos2 θ, = 2 θ

11. What is  equal to ?

Watch Video Solution

cos2(45∘ + θ) + cos2(45∘ − θ)

tan(60∘ + θ)tan(30∘ − θ)

12. Prove that : 

Watch Video Solution

tan4 θ + tan2 θ = sec4 θ − sec2 θ

https://dl.doubtnut.com/l/_KKQcqZ9Xk9qG
https://dl.doubtnut.com/l/_rS4sDpvubUUw
https://dl.doubtnut.com/l/_OQdvzB6JjrTT
https://dl.doubtnut.com/l/_6JMLUxfHy4YR


1. If , then 

Watch Video Solution

cos ecθ + cot θ = p cos θ =

2. Prove that 

Watch Video Solution

√sec2 θ + cosec2θ = tan θ + cot θ.

3. If , then prove that  or .

Watch Video Solution

1 + sin2 θ = 3 sin θ cos θ tan θ = 1
1

2

4. If ,then 

Watch Video Solution

sin θ + 2 cos θ = 1 2 sin θ − cos θ =

https://dl.doubtnut.com/l/_3qQ0N2MQRZfG
https://dl.doubtnut.com/l/_zF4L7uhaKp4F
https://dl.doubtnut.com/l/_VIgBtcH6we67
https://dl.doubtnut.com/l/_odgPHrskm2EI


5. if  then prove that 

Watch Video Solution

tan θ + secθ = l secθ =
l2 + 1

2l

6. If  then prove that 

.

Watch Video Solution

sin θ + cos θ = p and secθ + cosecθ = q

q(p2 − 1) = 2p

7. If  then prove that 

Watch Video Solution

a sin θ + b cos θ = c

a cos θ − b sin θ = √a2 + b2 − c2

8. prove that

Watch Video Solution

= tan θ − secθ
secθ − tan θ − 1

secθ + tan θ − 1

https://dl.doubtnut.com/l/_yLW1twTQPKYw
https://dl.doubtnut.com/l/_UocYCXW18MC7
https://dl.doubtnut.com/l/_NuUqG9MoglIK
https://dl.doubtnut.com/l/_pp7ZYLsRYtD7


Board Corner Very Short Answer Type Questions

1. Find A , if tan 

Watch Video Solution

2A = cot(A − 24∘ )

2. Find the value of 

Watch Video Solution

(sin2 33∘ + sin2 57∘ )

3. Evaluate : 

Watch Video Solution

sin2 60∘ + 2tan 45∘ − cos2 30∘

4. If  calculate sec A.

Watch Video Solution

sinA =
3

4

https://dl.doubtnut.com/l/_ZnXjDGtFvSGv
https://dl.doubtnut.com/l/_EySWmYLemFMR
https://dl.doubtnut.com/l/_rt1JNVJcVWjh
https://dl.doubtnut.com/l/_L6Ft59pTpR10
https://dl.doubtnut.com/l/_6ZZJIJQO15zS


Board Corner Short Answer Type Questions

5. What is the value of ?

Watch Video Solution

(cos2 67∘ − sin2 23∘ )

1. Prove that 

Watch Video Solution

(sin θ + cosecθ)2 + (cos θ + secθ)2 = (7 + tan2 θ + cot2 θ).

2. Prove that 

Watch Video Solution

(1 + cot θ − cosecθ)(1 + tan θ + secθ) = 2.

https://dl.doubtnut.com/l/_6ZZJIJQO15zS
https://dl.doubtnut.com/l/_chcGKyJQjylS
https://dl.doubtnut.com/l/_vhBt9VKhOmAb


3. Evaluate the 

Watch Video Solution

( )
2

−
3cos 43∘

sin 47∘

cos 37∘ cosec53∘

tan 5∘ tan 25∘ tan 45∘ tan 65∘ tan 85∘

4. Find acute angles 
 if 

Watch Video Solution

AandB,

sin(A + 2B) = and cos(A + 4B) = 0, A > B.
√3
2

5. If  evaluate 

Watch Video Solution

4 tan θ = 3, ( )
4 sin θ − 2 cos θ + 3

4 sin θ + 2 cos θ − 5

6. If tan A  where 2A is an acute angle , find the value of

A.

Watch Video Solution

= cot(A − 18∘ )

https://dl.doubtnut.com/l/_OX0HdW6W0mml
https://dl.doubtnut.com/l/_OM88iVEsKOwJ
https://dl.doubtnut.com/l/_QNhWZ2d0xyyv
https://dl.doubtnut.com/l/_sjrzm0k5Povr


Board Corner Long Solution Type Questions

1. Prove that 

Watch Video Solution

=
sinA − cosA + 1

sinA + cosA − 1

1

secA − tanA

2. Prove that : 

.

Watch Video Solution

+ =
tan2 θ

tan2 θ − 1

cosec2θ

sec2 θ − cosec2θ

1

sin2 θ − cos2 θ

3. If sec , the value of sec  + tan  is equal to

Watch Video Solution

θ = x +
1

4x
θ θ

4. Prove that: (sin θ − 2 sin3 θ) = (2 cos3 θ − cos θ)tan θ.

https://dl.doubtnut.com/l/_sjrzm0k5Povr
https://dl.doubtnut.com/l/_gWMrfGunpAN0
https://dl.doubtnut.com/l/_Zn4kE9iZ1bpK
https://dl.doubtnut.com/l/_PIQLaBwvVJ6U
https://dl.doubtnut.com/l/_M8a2h4ypr9gR


Watch Video Solution

5. Prove each of the following identities : 

Watch Video Solution

+ = (1 + secθcosecθ)
tan θ

(1 − cot θ)

cot θ

(1 − tan θ)

6. Prove each of the following identities : 

Watch Video Solution

− = 2
sin θ

(cot θ + cosecθ)

sin θ

(cot θ − cosecθ)

https://dl.doubtnut.com/l/_M8a2h4ypr9gR
https://dl.doubtnut.com/l/_XdLJYsQjNYjU
https://dl.doubtnut.com/l/_CMD9HvranB2X

